
















'② 3④⑤⑥
trial

?⃝ realize
-

all passible
°
sunset at outcomes '





12 D: all pass.
34 PYM -0 outcomes
56 p#2,345,64=1
÷

Pca-1 , PCH -0



AHH

PCA / = 4g
It TT÷÷÷ .T TH

Ttt



Hotmail
N : RB
RG

191=6 BK

(Aki
→ PLAKE BG

GB

GRJ



1%-1



A- =/ 1,2>34
B- 1214,64

-

B-
-

A

456 1A / =3

IAABI - I → ALBIA) --1AffY-
IANB#221=1

= 's



-*
a-

A- =/ 1,2134 PCAAB) = ¥
B =/ 214,64



PLAN Bl - Pl BA Al

PLAIPCBIAI =P(B) PCAIBI

-
-

++
P CANB) = PIN PCBI At

= tz - kg =¥
"m=i%÷?¥µiÉk



"

y publ



-

Pl He He He it ¢ It ) =P(H ) . Put) - PIHI .

PLH) . RHI

=0.75





PC at least once ) = 1- Pc
never )

- l - Eg )
3 = 1- ¥ = 1¥



-
-

A- / 174,64
B -462

PCAUBS =%={



l⇐☒

'

Pl §- It , B -74 or { A-7 , B=H} )

← .

0.6 . (c-0.31 1- (1-0.6)-0^3

= 0.42-1 0.12 = 0 . 53








